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Name:

Unit 2: All Practice

Purpose: This exercise reinforces electron sublevels and all of the methods used to express electron configurations (Long Hand,
Orbital Notation, Noble Gas Notation). You will also explore how they are related to the Periodic Table.

Period: ___ Date:

The Periodic Table shown below indicates the sublevel into which the OUTERMOST, or LAST electron(s) are placed for each
element, also known as VALENCE ELECTRONS. For example, Calcium has its outermost electrons placed in the 4s sublevel.
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1. Name two (2) elements in which the outermost (last) electron(s) to be added are placed in the “ 5s ” sublevel.

Rubidium (Rb) # Srronhum (So)
2. How many maximum electrons can be placed in the “ 5f ” sublevel? How do you know?
Eneray level does not modter here ; “£" sublevel has (7) sublevels each
[He-|» " _ _ ; T} sulievess, ‘
of whith can hold Ae” mox = (Torbitels) x (2e” each) = JYe" mox |
3. Name two (2) elements for which the outermost (last) electron(s) to be added are placed in the “ 3p ” sublevel.
Aluminua (A= 3p : /Si\ic_on (s5:)+ 3|Da/Phojfl'\orvS )- 3{’3 /S'U'-RJ(CS) s 3P"/Ck|o nne (ci)= 3(’5/1\(300 (A,)--}P‘

4. List ALL elements with six (6) electrons in the outermost “ p  sublevel (valence electrons).

Crove 16: Oxygen (0); Sulfur (5); Selenivm (Se); Tellurium (Te) ; Polonivm (Fo)

5. Name two (2) elements for which the outermost (last) electron(s) to be added are placed in the “ 3s ” sublevel.

\
|
Sodium (Na) = 3s' / Magnesiom (Mg) = 3s?
6. How many orbitals are placed in the “ 4d ” sublevel? How do you know?
‘ e Each *Yd"* sublevel can hold & naaximum of Oe”
| 17 o Spaircs of elechuns

7. Atotal of 18 electrons can be placed in the 3 energy level. Explain why. (Do not just simply say 2n?)
: 2e” fom *35" sublevel
N=3 > 3 sublevels (S,(,d)j > Ge- Fom “3p" sublevel 7 Totwml=18e”in n=3
10e- From *3d" sublevel
8. How many total orbitals are used (containing at least one electron) in 1s?2s?2p®3s23p®4s23d'°4p?? Explain.
|s®= 1 352z | 34", §
l 17 4ol orbrtals|—> 25721 BPcs 2 Yp2s 3 > Total= 17 ocbrinls secvped
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